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testwrite.c *******/ #include #include #include #include typedef
struct{ char name[4]. int age. } people. main(int argc, char** argv) {
int shm_id,i. key _t key. char temp. people *p_map. char* name =
"/dev/shm/myshmz2". key = ftok(name,0). if(key==-1) perror("ftok
error"). /*UJ 0O ftokO U 0O O key,[J O O shmgetd U O 0O O O O

O O 0O O * shm_id=shmget(key,4096,IPC_CREAT).
if(shm_id==-1) { perror("shmget error"). return. } /01 00 [J 00 [J [
Doooooooood*
p_map=(people*)shmat(shm_id,NULL,0). temp=a. for(i=0.i {
temp =1. memcpy((*(p_map i)).name,&amp.temp,1). (*(p_map
)).age=20i.}/ 00000000 ooooooo® og”
O O */ if(shmdt(p_map)==-1) perror(" detach error ™). } /*00 I O
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Okeyld OO0 OOOOOOO O O O * fFAeeexrrr* tastread.c
Fadkkeeeeexk [ #include #include #include #include typedef struct{
char name[4]. int age. } people. main(int argc, char** argv) { int
shm_id,i. key tkey. people *p_map. char* name =
"/dev/shm/myshm2". key = ftok(name,0). if(key == -1) perror("ftok
error"). shm_id = shmget(key,4096,IPC_CREAT). if(shm_id ==-1)
{ perror("shmget error"). return. } p_map =
(people*)shmat(shm_id,NULL,0). for(i = 0.i { printf(
"name:%s\n",(*(p_map i)).name ). printf( "age %d\n",(*(p_map



1)).age ). } if(shmdt(p_map) == -1) perror(" detach error "). } O [
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